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Venezuela
black widow Prices Winners Spiders Countries
cart spider $60
$75
redback
$90
whip spider $105
wolf spider $120

1. The spider that sold for $120 was from Malawi..

2. The arachnid that sold for $105 was the cart spider..

3. The black widow was either the specimen from East Timor or the arachnid that sold for $75..

4. Hazel's purchase sold for $120..

5. Phyllis's purchase didn't cost $60..

6. Of the specimen from Malawi and the specimen from Guinea, one sold for $60 and the other was the wolf spider..

7. The whip spider cost 30 dollars less than Georgia's purchase..

8. Brandon's purchase was either the specimen from Iran or the cart spider..

9. Georgia's purchase cost 15 dollars less than the specimen from East Timor..

10. Brandon's purchase didn't cost $105..
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